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@ 942 cm? @ 1256 cm? (@)1884(3112
@ 2198 cm? ® 2512 cm?

B

(& 299 yol)= (WHx]F)x (F¥FA5)x3.14
(dHol)= (A5)x3.14x (&°l)

(B¥lol)= (& B Hol)x2+ (F4Hol)

(3t ¥ o] Hol)= 10 x 10 x 3.14 = 314( cm?)
(Fy¥lo])= 20 x 3.14 x 20 = 1256( cm?)
(BYlol)= 314 x 2 + 1256 = 1884( cm?)




@ 1.5x 1.5 x 3.14 X 5 = 35.325( cm?)
@ 2x2x3.14x 3 = 37.68(cm?)

® 2x2x3.14x 3.5 = 43.96( cm?)

@ 2.5%2.5x3.14 x 3 = 58.875(cm?)
® 3x3x3.14x 2 =56.52(cm?)
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1x3 = 3(7M)

2x (342) =10(7H)
3x(3+2+2) =21(70)
4% (3+2+2+2) = 36(H)
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@O 748 cm @ 868cm
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(50x2x3.14) x4+ 120 x 2

= 1256 + 240 = 1496( cm)
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Fhel He] Hol 2x 2 x 3 x 4 = 48( cm?)

(he] W] Hol 5x2x3x4=120(cm?) O|EE

Phet (he] A1 B ol9 A= 72 cm? YU




